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1. TeTrSTE feh sifefinr qe wve @erg geurl #ie g ?
(a) <fdet arferent OIERIEEAR)
(c) Hfad USHd (d) feur wHi
Tty I
(1) % (a), (b), (d) (2) i (b), (), (d)
(3) ®H (a), (b), () (4) W (a), () (d)
Which sportsmans participated in Rio Olympic from Maharashtra ?
(a) Devinder Walmiki (b) Ayonika Paul
{c) Kavita Raut (d) Deepa Karmakar
Answer options :
(1) Only (a), (b), (d) (2)  Only (b), (c). (d)
(3)  Only (a). (b). () (4)  Only (a), (c), (@)

NOS§

2. 'GO% T TEER 2016 FUS WG A ?
(@) TR fHy (b) el wfes (c) T TR
watdr 346
(1) H= (a), (b) (2 W (a), (), (d)
(3) % (a), (b), (c) (4) W (a), () (d)
Who received ‘Khel Ratna Award, 2016" ?
(a) P.V.Sindhu (b) Sakshi Malik  {¢) Lalita Babar
Answer options :
(1) Only (a), (b) ~(2)  Only (a), (b), ()
(3) Only (a), (b), (0) (4} Only (a), (o) (9)

(@ fg

(d) Jitu Rai

. 3. ‘fodten’ (LEMOA) %Sl %7 ?

(1) o =y Jeien 3w Sime

(2) o TN Teiten A e

(3) Ofafeam i THieH AiE b

(4) Oiieas L A 31w STHe

What is meant by LEMOA 7

(1) Long Exchange Memorandum of Agreement
(2} Long Export Memorandum of Agreement

(3) Logistics Export Memorandum of Agreement
(4) Logistics Exchange Memorandum of Agreement
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4. ARG A SHE HT HIUAHTS! DI TGS AN TR (SR SOt 24 7

(1) @IEn gHHS Jera (2) i damd

(3) A ydITEd (4) T gg YEEa

Under the “Literacy India Mission’, which panchayat got the National Prize for best working
in literacy in this year ?

(1) Laguniya Suryakanth Panchayat (2) Girod Panchayat
(3) Rawer Panchayat (4) Amgaon Khurd Panchayat

5. Sl U= qOdIE i v T IR ST e 7
(1) T 3 foem 4R (2) T TEEt faaE e
(3) rrtira o fagm R (4) TSUET T
Which National Award was received by Dr. H.V. Tulsiram ?

{1) National Bio-Science Award (2) National Chemical Science Award

(3) National Physical Science Award (4) None of the above

.

6.  WRA M W GG The FIUEA WIeoTs! o fauTT SR S
| (1) HETE FR T 36 el wie faur qfavar dasitan SeaTas T 59,000 F1EE .
(2) Wa‘aﬁ@ﬁnﬂ%ﬂﬁmmwmaﬁ
(3) U%he 71 w@F (9=l 69 &§HaT 4700 fo a1,
(4) TG HUE! A M 36 Te-aTd HUSATH R

Which one of the following statements about ‘Rafale’ deal between India and France is
not correct ?

(1) Itis a pact of about ¥ 59,000 crore to deliver 36 jet fighters.
(2) Rafale fighter fitted with meteor missile.

(3) Rafale fighter has a fuel capacity of 4700 litres.

(4) The deal will be completed within nexli 36 months.
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7. At il - 20 FeR geied e vl el s e TS 8 ?

1) FEa (2) T (3) TS @) I

This year, in which city of China, the G-20 Summit was organised ?

(1) Shenzen (2) Hangzhou (3) Guangzhou (4) Tianzin

8. ‘HERIE NSE' Ai=ATEEd WHGIw! hivig faur/3 SER dR/d ?
(a) TN 1075 WS S0 .
(b) TR 11 N TIFISY TR
() TRNT UPE 5% § SIS SEl RHISN 5@ 3T,
LRIDIE
1 @ 2 (b G (© (4) o wd
Which of the following statements about “Maharashtra Police” is/are correct ?
(a} In Maharashtra, there are 1075 Police Stations.
{t} In Maharashtra, there are 11 Police Commissionerate.
(¢} Maharashtra Police Force is the second largest force in the country.

Answer options :

1) () @) () G © 4y Allabove

9. WSOTH FIUH A TS Foad ?

(1) FEr g - wie T e &

(2) TRHEIACH-ULH a9 434 - 3Sd S

(3) ST BRA =Rl - gEdEl w@dT AR

(4) IFY-TLH AFAIEER A= - <Al LT, 3

Which one of the following pairs is correctly matched ?

(1)  Election Commissioner - Syed Naseem Ahmed Zaidi
(2) Director General - National - Ajit Doval

Investigation Agency

(3) Chairperson - National - Justice Swatantra Kumar
Green Tribunal

(4} Chairperson - National - Justice T.S, Thakur
Human Rights Commission
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10,  "IRNTERS JEiN W aefavar 3R TEvamEt U wRETgR et RIRIEEL
YA ST A A
(1) gF= (2) e F= uAgd
(3) WA H= (4) wEh H s
In order to achieve the objective of improving the girl child ratio in Maharashtra, the state
government relaunched the scheme recently.
(1)  Sukanya (2) Majhi Kanya Dhanashri
(3) Majhi Kanya Bhagyachi (4) Majhi Kanya Bhagyashri

11. A, B,C,D,E 30t F ¥ 30 I=0aR=I AHS SO MY I 3Med. C € ekl arars ey
IR 30f & S foiadt srfyd e, F et ol 9@t groraa ot ot stfaanfed g, A =1
WIE 81 D 9 90 . B = YS! MerHl §ET AW Wy Sl ol Qrsardied 9 a3
B ST F € UHTE W @lard.  91d < fqarfed Siredt 31ed. @ F< B 3t 71d %/ ?

(1) =aa (2) TS
(3) v @) et mifE e T

A, B, C, D, E and F are members of a group who enjoy book reading. C is the sarpanch of
the village and post is reserved for woman. F is pakhwas player and is a bachelor. The
brother of A is I's husband. B’s wife is not the member of the group but sometimes
accompanies him during reading sessions. B and F are residing in neighbouring areas.
There are two married couples. How F is related to B ?

(1) Husband (2) Father

(3) Wife {4) No sufficient information is provided

Tt WIWIEIS! WO /SPACE FOR ROUGH WORK
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12. =X Wigvadst dF Bievamyis €&l ThH MmN ued Fa 9y U Aisviide Jen @
fraare Tiem i TR @ faEa wis et
22120 31|36 g8 |11 11|6
27 10 28 35 9 10 12
25 8 25 32 4 5 13
15|13 24129 216 14|19
(a) (b) © (d)
1 (2 @ ® (3) () @ (@
Numbers in three out of the four expressions follow same rule, while one does not. Select
the odd expression.
22|20 31|36 8 |11 11| 6
27 10 28 35 9 10 12
25 g 25 32 4 5 13
15113 24129 2)6 14| 9
(a) (b) (c) (d)
1 @ 2 ® @ © CORCY
13. N, O, P, Q9 R? T WIRA WHR ARd. N & W@ O Tdre @en 1 fh . av a1,

O &1 P &= ufveden 1/2 .. Sfaet o anfor Q &1 W R Tr=n uiyemen 1 fedi.
AR TR, W Wifedi=A 3N WA e 39 faum faen

(1) P @R =N uk=me o,

2) NP ¥ &R 1/2 6. | o
3) N3 R T ROI0IRE 3/2 Tt T ama.
(4) REO = o e

N, O, P, Q and R are streets parallel to each other. Street N is 1 km to the east of street O,
street O is 1/2 ki to the west of street P and street Q is 1 km to the west of street R. Select
definitely true statement on the basis of this information.

(1) P is towards west of R. {2) NandP are1/2 km apart.
(3) N and R are 3/2 km apart. (4) Ris to the east of O.

o~
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14, BT RGN HIGIT G (oI v iR wet Wi, sife srétaman fryg vibhe s vl
IREES

Wm:

(1) A (2) A (3) A (4) é +]

Transparent paper B is folded along with dotted line in the direction of arrows. Select the
option that would look like final fold.

Question Figure :

Answers Figures :

e oA
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15. SIS W fergre W ajdis <6 Hean S deiy $Te, 1 Wei ;- : fomre gu ANpdie
e 3. W Hey IyF wxew faveren Sr @ gaig faen

240 :380::_2 240
(1) 152 (2y 142 (3) 122 {4y 132

In the following question there is certain relationship between the two given numbers on
one side of ::and having the same relationship between the two numbers as the numbers
on the other side. Choose the correct alternative, which will suitably replace the question
mark.

240 :380::_2 240

(1) 152 (2) 142 (¢) 122 @) 132

16. A,B,C D,E F, G &MU H 78 2413 fis afahi aeeies ARA.  Falfdl G ages HEAHS SR
A, B = g w1 Wl 7 F = 35 Qo1 5 W 9909 3. DEA fFa B

I FE90 TR C T G TgH THHFITEe qga. H 8 D ¥ 1ol 984 el C 8 B A1 [
YA TTEL.

T GUATHIS] AT IR AU h, 3T GF T 7R &0, Yod® 1e0d, Th 911 Th 3y 958
HUY AOE. WS HIVH HHE, 3TN YRR TN Flese e 3 IH0R TR 7

(1) AGEF (2) CBDH (3) HCBD (4) AFDB

Eight friends A, B, C, D, E, F, G and H are sitting around a circle facing towards the
centre. A is sitting third to the left of B, while second to the right of F. D do not sit next to
Aor B. Cand G always sit next to each other. H never sits next to D. C do not sit next to
B.

For playing cards they form two groups of four members each, consisting of alternate
persons. Which of the following combinations may not be a group thus formed ?

(1) AGEF (2) CBDH (3) HCBD (4) AFDB
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17, fofay Tism, oA s, g Inadas fauros $re™ 9] gHe Koo ard. o=

1 Gicd YR TR B A, S TSI ST =1 U Ar[eR

ety

3) “)
(1) T oo & = (2) TF IO AR AR
(3) =W e =R S (4) ™I TH

Four pieces of paper, divided in to six similar squares, coloured in different colours, are
given. They can be folded to compose cubes. Select the pieces of paper, which can be
converted in to cube, having blue and white colours on opposite sides.

! White l Blue lYellow

Red ' Green | Yellow

| -
e

1) 2@

Orange Orange

[ Blue |Orange

(Blue White Red | White
IOrange Green YellowJ
3) (4)
(1)  One and three both (2) One and four both

(3) Two and four both (4) Only one

el RISt WF /SPACE FOR ROUGH WORK
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18. Sl SN, Hel, Siedl 9 B FAAR 31 UL Tl S T 70 Ufea 3t Te o) ot
2 g0 F. adfa SeE o SETER S N, ofed ot 37 e ufedt 3t Teid W
Se foreran Sl 3. S Td S g8 SIFiE A, el SE! 34 oRF ! (Hasl

1) o 2) & (3) @fea (4) &

When Laila, Leela Lalita and Leena stand according to age, Laila being younger stands
first while Leela brings up the rear. However, when they stand according to height,
Lalita being the shortest stands first while Leela comes to the third place. In both lines
Leena remains at the second position. Select the person who is immediate younger than
Leela.

(1) Laila (2) Leela (3) Lalita (4) Leena

19. WEd 3 I, $asi @ HifoFeaTs Sy FaM. WEH 9 g W 9 30 € fava
fraes. P g Higa Tfvm 9 e snagard. % 9 HE WEAaE 9 Sust 9w
Frase.

Taa &A1 Fasow faug $iow ?

(1) sust () v (3) TEIAYRA (4) sifaFare

Mohan and Shekhar are studying English and Physics, Shekhar and Saleem have opted
for Chemistry and English. Zubeda and Mohan are studying Mathematics and Physics.
Deepak and Mohan have chosen Chemistry and English.

Which is the least chosen subject ?

(1) English (2) Mathematics  (3) Chemistry (4) Physics

HeAl HEES! AT /SPACE FOR ROUGH WORK
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20. ToeM wrdleyam a1d feas ed.

A—B "8V B €1 A =T STISHT 8.

A« BTN B ¥ A =0 AR AT

AB WIS B § A = TN .

A—B U B & A = A L.

T T-Q; T{S; RoQ; ToN; R-S; 30T R-Q, R-S, T-Q, T-S, T-N ¥ Hal §HH Eq.

PEIT,Q, S 3N R o1 9RH §9H HaaR 38e T Wy 949 fast

(1) N & P =1 St 37, ) PET = TS K.

(3) ST N = THIT 3, (4) P RIN = IS 37,

The symbols have given the meaning as follows :

A—B means B is at the Northwest of A.

A«-B means B is at the Southwest of A.

AeDB means B is at the Northeast of A.

A-«B means B is at the Southeast of A.

U T-Q TS5 RoQ;, TN; R—+5; and distances between R-(3, R-S, T-(Q, T-S, T-N are

same. I is at a equal distance from T, Q, S and R then select the true alternative.

(1) N is at the North of P (2) Pisatthe Eastof T

(3) Sis at the Southwest of N (4) Pis at the Northwest of N
21. o four T@

(a) g G YN URETE 99 § | Weshd |9ed.

(b) TSI Hiad R WHs AR,

i I

(1) fauA (a) IR ST (2) faum (b) ST 1L

(3) faum (a) 27 (b) ==L e (@) faur (a) =W (b) TR .

Observe the following statements.

(a) The iron ore mainly is found in Dharwad series and laterite rocks.

(b) Redi Port is famous for the export of coal.

Answer options :

(1) Statement (a) is correct (2) Statement (b) is correct

(3) Statewnents (a) and (b) are correct (4) Statements {a) and (b) arc incorrect
22, 2001 =0 SFMATEE g€ el g fEdt oah A FAveeEmy WK e 2

{1) 55% (2) 49% (3) 50% (4) 34%
According to 2001 census, what was the percentage of slumdwellers in Mumbai ?
(1) 55% (2) 49% (3) 50% (4) 34%

AT HIEEE AT /SPACE FOR ROUGH WORK
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23. TS faumieR fa=ur =4
(a) ufeEm AeRre faymmdie o Sgue Sfean an TwHd Safavrme 59 &7 1000 <. 4.
U&7 ST 3TH 1 GioEne 319 d TEv] SH{awET gl %49 BTl
(b) faes faurmdie g SYUMIS STIHH TORI, JH § JoldHie 51 il o= faum
S8 1000 <. f. Y. Y v 37
a3
1) (2) W (b) TR () (a) TR (b) T
()  (2) IF (b) TR (4)  (a) 3 (b) 9
Consider the following statements :
(a) Among the Western Maharashtra region, the Alibaug region in the Thane forest
circle is the only region having forest area of more than 1000 sq.km followed by
Thane and Dahanu forest regions.
(b) The three forest regions of Buldhana, Pusad and Yeotmal in the Yeotmal forest circle
of the Vidarbha region have a forest area of more than 1000 sq.km each.
Answer options :
(1) (a) and (b) true (2) (a) true (b) false
(3) (a) false (b) true (4) (a) and (b) false
24, WA WA AfEdiae SRR ST ¢

(a) TIEEL F T T T,

(b) & SR geh-gesh g o=t weEwe fewn & afvem-ud o
() THE WE 3IaN W =R A R R,

(d) Td w3 I FH T S

(1) weEHR - S8l (2) TR - e
(3) Y - TERH (4) e - gede $R

Identify the mountain range from the information given below :

(a) Water divide for Godavari and Tapi rivers.

(b) This mountain range is discontinuous and has a West-East orientation.
(c) Has gentle slope towards the East and steeper towards the West.

(d) The hieght decreases towards the East.

Answer options :

(1) Satmala - Ajantha (2) Harischandra - Balaghat

(3) Sambhu - Mahadev (4) Hingoli - Mudhked Hills
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25, W9 " WH A= Ay e e 9 T e

HTe o
(@) g () FEHLYA - HEIS
(b) GIRFH! HiE () SEHSTR - 3TN
(c) HiES uE (i) HeE - A
(d) 3taTaE Hie (iv) 9O - W@
uatet 4t

@ () (o (@
1 @ @) @ v
2 @) @ @ @)
(%) @) @v) (@) @)
4) @ @ @) ()

Match the pass and their place and choose correct option.

Pass/Ghat Place
(a) Thal Ghat (i) Mahabaleshwar - Mahad
(b) Khambatki Ghat () Ahmadnagar - Thane
(c) Malshej Ghat (i) Mumbai - Nashik
(d) Ambenali Ghat (iv) Pune - Satara

Answer options :

@@ (b) () (d)
1 @ @) @ )
(2) Gv) (@ (@ ()
(@) @ @v) @ G
@ @ @ (v) @)

26, RIS JOIAE] LTS HIGHARNHR HIST &,
(a) THEY (b) <dw (c) WHE (d) @A
WW:
1 )@ @ @ O @@ @ @ O d @ © @ Ob).© @) (d

Arrange the following newspapers chronologically in the order in which they were
established.

(a) Deenbandhu (b) Durpun (c) Prabhakar (d) Deenmitra
Answer options :

1 b @)@ @ 2 b)) @@ @& ® @)« @ ®)@ @)«

=
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27, QEISUE FIUE SISt ST TR 7

(2) TN A - TeE

(b) TgrEl W AR

(c) 91 B hITT HaY ? - BAL AR

(d) Feuid Frvaw - FRNER HIfEER

i S

1 (@ (@ O (3) (a) 4 (o

Which of the following pair is mismatched ?

(a) Yamuna Paryatan - Baba Padmanji

(b) Dhaddhashastri Paranne - Mukundrao Patil

{c) Pan Lakshat Kon Gheto ? - H. N. Apte

(d) Kalyanche Nishwas - Kashibai Kanitkar

Answer options ;

1) (d) 2y ®) G) (a) (4) (o)

28, Tad H9R YT (1936) TG SO0 H ?

(1) Hus S (2) ST s

(3) TH.TH. S (4) o SR sz
Who founded the ‘Independent Labour Party” (1936) ?

(1) Comrade Dange (2) Senapati Bapat

(3) S. M. joshi - (4) Dr. B.R. Ambedkar

29, whifafeg T SRS Ti=AT IEnErais 9 Ik WER ' = FIeES HI0 ?
(1) 1 971943 o 13 [T 1946 (2) 10 37, 1943 1 26 9 1945
(3) 1 971944 A 15 3 1946 (@) TS D

What was the period of the Satara Prati Sarkar that functioned under the leadership of
Krantisinh Nana Pati] ?

(1) 1 june, 1943 to 13 june, 1946 (2) 10 june, 1943 to 26 July, 1945
(3) 1 June, 1944 to 15 August, 1946 (4} None of the above

- —— —
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30. UM @IS AN ST Goeds! HIvE (@6 (OHs ?

(a) 3foer (b) st () =R (d) DR

qaidt 3

(1) % () @) D) @) @IMTE) (@) () ()

Which of the following books was written by Acharya Balshastri Jambhekar in Marathi ?

(a) Etihas '(b) Shunyalabdhi (c) Vyakaran (d) Chandshastra

Answer options : .

(1) Only () (2) Only (b) () @and®  (#) (9 and(d)
31. XA {EEEE, FIEQ S0 G HAGAE S FHTT THIIE FHS! AN,

(1) Jui fawm (2) IR =R faum

(3) ar fawm (4) TR R A

The Indian Constitution is published by of Ministry of Law and Justice.

(1) Legislative department (2) Department of Legal Affairs

(3) Department of Justice (4) National Judicial Commission

32. @ favm faema .
(a) SO STEPTE T 1983 HEd G,
(b) TR SENTAT e 247 Rrere g,

FOBTHT H/A faurE/A IO SR/
(1) %= () (2) % (b)
(3) (a) 31V (b) (4) St IR

Consider the following statements :

(a) Sarkaria Commission was set up in 1983.

(b) The Sarkaria Commission repot contains 247 recommendations.
Which of the statements given above is/are correct ?

(1) Only (a) (2) Only (b)

(3) (a)and (b) (4) None of the above
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33, TSAUIGE WGma! hividl gt sTfuaw S ?
(1y T faum afea wsh ot o TwiEfaa S
(2) A WUAIEE fatee e a.
(3) Siegl Tau™ A RO TE TaTST TI GEHT 9T T GRAHATE THYE .
(4)  TSgr TSl WEA wRrEEEt frse w1,

Which one of the following is not a discretionary power of the Governor ?
(1) Nornination of one-sixth of the members to the State Legislative Council.

(2) Reservation of a Bill for the consideration of the President.

{3y Appointment of the Chief Minister when no single party has clear cut majority in

the Assembly.

(4) Recommendation for the imposition of the President’s rule in the state.

34. @S favm fa=mg o
(a) vWdra HeeA fraromren st stfafras 2000 94 HHT S,
(b) 11, 2010 YT foamr=n SfyEr sfufremel siveasmE) g ae.
(c) e g% HTae1 o HRL [re O e,
(d) 6714 TAERE W oI Aed st S e ¥ @ weas e e e,
FhSAH! FIOC faum qUET A1ed ?
(1)  (a), (b) 0 (d) (2 (a), (o) 00 ()
(3)  (b), (c) M (d) ' 4) (a), (), (c) 1 (d)
Consider the following statements
(a) The Right to Education Act was passed by the Indian Parliament in 2009.
(b) The Right to Education is implemented from 15t April, 2010.

(¢} The Right to Education is not applicable for Jammu and Kashmir state.

(d) Providing free and compulsory education to all children in the age group of 6 to
14 years is the main feature of this Act.

Which of the statements given above are correct ?
(1) (a), (b) and (d) (2) (a), (b} and (o)
(3) (b}, (9 and (d) (4) (a), (b), (c) and (d)
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35.

18 A
AR, frorev, ALl W6 a1 GaHide TRERATS el TR B FIUA
e,
(1) 9 fedaT 1946 (2) 15 HAR 1947
(3) 26 =T 1949 (4) 26 AT 1950

The provisions of the constitution relating to the citizenship, elections, provisional
parliament were given effect from

(1)  9*h December, 1946 (2) 154 August, 1947
(3) 26th November, 1949 (4) 26% January, 1950
36, Wote faur faarw .

(a) ToaurEm w4ie S 60 fo AERE ST 500 THEE F|E.

(b) TRREZEA fAuFAEAE e e 279 3.

(c) fassim touren faur avE va 9= 32 IR

oS! FoH Hur awEw ed ?

1) @smp () B S() (@) (@) 3 () (4) (@), (b) S (c)
Consider the following statements : | | |

(a) There shall be not more than five hundred and not less than sixty members in a
Legislative Assembly.

(b) The Legislative Assembly of Maharashtra has 279 members.
(¢) The Legislative Assembly of Sikkim has 32 members.

Which of the statements given above are correct ?

(1) (a) and (b) (2) () and () (3) (a)and (g (4) (), (b) and ()

Fo KM I /SPACE FOR ROUGH WORK
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37. Wow Taur fe=t =
(a) FEAIHE HENEHNIH Rdiaeh 3 S0 Twq Aal JHET AR,
(b) Feall wy Gredr W AEGAN IS F ST o7 G GHRY ¥ fead s
U df T B 9 ST ‘
(c) hIETG VA W Faied @M deei] 99 el Haoel oo IRy 9edr
=1 gfadreT e
(d) 1976 =1 42 =1 HeAIgEN AfAFTAAER T - HHISERE, Wd9W i srgea @ 9
YRS HHEY G AT,
Tt H favm/faum atEy eng/a?
(1) e (a) () (@), (b) ()
(3) %K () @) (@ ), () = (d)
Consider the following statements :
(a) Preamble contains the real objective and philosophy of the Constitution makers.
(b) In the Berubari Union case the Supreme Court held that Preamble shows the general
purpose of the Constitution and is thus part of Constitution.
(c) In the Keshavananda Bharati case the Supreme Court reaffirmed the decision taken
in Berubari Union Case.
(d) 42" Amendment Act 1976, added three words Socialist, Sovereign and Integrity in
the preamble.
Which of the above statements is/are correct ?
(1) Only (a) (2)  {a), (b) and (¢)
(3) Only (d) 4) @, (b), (9 and (d)
38. WNAA ToHTES HoH HHIF 371(2) WiGOUH! I HeFh TN QaLid 8 2

(1) T ST FRAR () ERTS SAol Tora

(3) nTeE 3nfor HfonR (4) STy w9 T q@Tn

Article 371(2) of the Indian Constitution is related to which of the following states ?
(1) Jammu and Kashmir {2} Maharashtra and Gujarat

(3) Nagaland and Manipur (4)  Andhra Pradesh and Telangana
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20 | A

wrore Ty fow=md = .

(a) WM diaum au=h gfeal doe 9 feder 1946 TS IR IEa.

(b) o SSHISR TEEE T A FEERR THST T

(c) oI waHIgd AldSH § GiauH w9 Se g

@l R FTT SRR 31 2

(1) (=) M (b) ()  (b) 3 () (3) (@) &0 () (4} (a), (b) 3T ()
Consider the following statements :

(a) The first meeting of the Constituent Assembly was held on 9% December, 1946,
{b) This meeting was boycotted by Muslim League.

(c) Dr. Babasaheb> Ambedkar was the Chairman of the Constituent Assembly.
Which of the statements given above are correct ?

1) @and(p) () Gand(© () @and© @ (a) (b and ©)
40. 97 & gaAIgEEdr Afufraagn A1 GEH ArTeYe dxarl e HHEY S

HTeA.

(1) HI%d kg muftes fem

(2) HEH H¥Ul

(3) TAS HIHA Hiwd I TS

(4) IR, =4 ° Had GAEH

The 97t Amendment Act added a new Directive Principle relating to

(1)  Free and compulsory primary education

(2) Co-operative sucieties

(3)  Free medical aid to the weaker sections

(4) Speedy, fair and open trial
41, wfedi=n Afashr et Wi X0amd &A7e -

(1) &9 mfedt Qv

(2) HESTER WM FAHSTE TGyl ST

(3) ETI@AT I FrEE e Fomet

(4) FOTUS AT

Right to Information Act is passed for :

(1) Providing all information

2) Promote transparency in the working of public authority

(
(3) Repeal Official Secret Act
(4) None of the above

ol HMTESE AN /SPACE FOR ROUGH WORK
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wfedan sfuer sifufrm, 2005 = wow 2 (Th) TOR ‘wifedl’ = Aufved SR @i
Faerramet dafuq mifed=n guEy ga). € a9y ATE.

1) IF 2) (3)  ¥E: e (4) @I vhd A

As per Section 2(f) of the Right to Information Act, 2005 the meaning of information
includes information relating to any private body. This statement is .

(1) Wrong (2) Irrelevant (3) Partly correct (4) Can't say

43.

Trfed=n TR o

(a) T

(b) wfEd=t BifERd wa QW

(c) wSlaeed wfEd=t qaul HLo

(d) FIEYA T& Higvamwe! fefau

vt 3=y

(1) i (a) FUE AR (2) (a) 30T (b) SR 3TA
(3) () AT (a) T SR (4)  (b) 0N () SIS 3T
Right to Information means :

(a) Taking samples

{(b) Taking Xerox of information

(c) Investigate the information stored

(d) Issue of documents for one month

Answer opticns :

(I) Only (a) is right ~ (2) (a)and (b) are right
(3) (c) and (a) are wrong (4) (b) and (d) are right

44,

Hifgdran SR STl gt AT § EIo da3d HLdl a4 ¢

(1) 30w @) 60 fgamm

(3) 90 feawma (4) OwUH &
Second appeal under Right to Information can be made within :
(1) 30 days (2) 60 days

(3) 90 days (4) None of the above
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45, H9dE I Wed 9 Aifedl Afusrane mifed faefavar fadd w=om o fHeseaat @
1) 10 (2) 20 (3) 30 4) 40
Excluding exception when any information is requested from any state public information
officer the same shall be provided within . days by him.
(1) 10 2) 20 (3) 30 @) 40
46, €I-F ° v ¥ FEHIA 9 IR ERURE A=A T GMRAW IR,
(1) 3.3 IEHLEH. (2) TUHNE.ExY .
(3) TuErTm (4) TRLuauy
The C-DAC’s B software is a scanner for virus for vulnerabilities in php
application.
PP
1) AWICS (2) SIWS
(3) PAVS (4) AVSS
47, H-E% I YHT YHT FEET SUIR 9 SO cEYE SR ST TR STa g faw ae
AR,
(1) dsE" (2) TR (3) HE-F (4) g
C-DAC cancer care system for rural area is known as :
(1) Tejhas (2) ONCONET (3) Megh-Sushrut (4) E-Sushrut
48, TEETA TGS wE HATE.

(1) ST AT TS s FJeey STeodIR] el Sqvaraie!

(2) R WA ST eedTaTgT ealt STvaErdt

(3) T A &9 =0 AUt

(4) W () F (3) B

The firewall is having following function :

(1y It is to safeguard internal network from vulnerable outside network.
2)  ltis to safeguard external network from internal network.

(
(3)  To connect LAN to WAN
(4} Option (2) and (3) only

HEAT HES A /SPACE FOR ROUGH WORK
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49. Wfedt damrear gesio arwean St | Fefager (Bandwidth) T WL 3¢ 1 7
(1)  FTERT &THT (2)  HTOREET ST
(3} IR AT F &I (4) e 9T § HHd
The term ‘Bandwidth’ related with Information Technclogy means
(1) Capacity of computer (2)  Speed of computer
(3) Speed and capacity of computer (4) Speed and capacity of network

50. HI-E& A WA HUAR AT SRjHeH TH TR DET HON FSHIH oEs AR | |

. wm

(1) drow (2) WRw @) fm= (4) w9

C-DAC has developed an application which can be used for multi-document summarizer
known as .

(1} Saransh (2) Saranshak (3) GIsT (4) Summary

51. SRl FlE (TEss) "
(1) SR gAEITH (THAH)
(2) ST IUS
(3) Hifgdren AAfasd sTemid Jfaay
(4) SRT= UHEHE 3¥8 TER FOTHEE! Ao
Data Integrity means :
(1) Integration of data
(2}  Availability of data

(3) Preventing any unauthorised alteration of information

(4) Preparing unified data view system

52, W% Hdwdl (FPFet J2a®) Hedld arRed o VPN (W) T 9a8iAae Uiy

%1 ?

(1) o WRRE T (2) =RE 9 Rad

() = % Ak (4) WIS WO TZah

With reference to computer netwark, the exact meaning ol the term VPN is :
(1) Virtual Protected Network (2}  Virus Protected Network

(3) Virus Proof Network (4) Virtual Private Network

HoAT HIUES FWT /SPACE FOR ROUGH WORK

P.T.O.




NO8

24 A

53, SeUivT W-odW HEERr Auid AE TS (1SO) W HE{ER ug e, (0S1) a1
T B o YUET HIU 2 :
(1) 9 feem ey Q) N feEm eI
3) 3 fadm (4) Tt
According to the International Standards Organization (150), the term O.5.1. means :
(1) Open System Interface (2) Open System Interconnection
(3) Open System Integration (4) Nome of the above

54. o o= Ty 3 9700 & TRl e SO ATt yoret oTe. € Wt ST
EINIGIGA '
(1) TELTRT (2) TELHT (3) TH.IMTA. (4) THHARTEY,
The screen reading software developed by Media Lab Asia is known as __ which
is used by disabled person.
(1) S.AFA. (2) S.AB.A. (3) SRS (4) SRS.A.

55. WAEL & WHIO B HTT =il 3T i, T SO 1o Taat He[Hhidhe Qv 3R
T ST TR 24 YR ST
(1) s Grefawm (2) TR e
(3) WEHET AU (4) IR AUHER
According to Cyber law means a person who has been granted a license to
issue an electronic signature certificate under Section 24.
(1) Asymmetric Cryptosystem (2) Electronic signature
(3} Certifying authority ‘ (4) Computer authcrity

56.

WA AaE-fTafd=n 30 9 SNR SR Haid G JEfiE §9 o o ?

(1) fewmmwgm (2) g (3) Froww (4) HEA
Which is the biggest natural harbour handling 30% of India’s export and import trade ?
(1) Vishakapattnam (2) Mumbai (3) Kolkata (4) Cochin
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57.

25 NO8

RATSR! Aleq® FaeIHEd ardie aie faamd =@

(a) QI disqsr sagedaed fafay vgdl Aifn Q&= v g,

(b) RS SR Fae ATE FTHUH L

TSI FId fauE ST 37w ?

(1) *= (a) (2) W= (b) (3) 2= @) R

In connection with Indian transport system, consider the following :

(a) India’s transport system comprises a number of distinct modes and services.
(b) Indian transport system is highly efficient.

Which of the statement given above is correct ?
(1) (a) only (2) (yonly (3) Both (4) None of the above

58.

59.

TIHG FIg N FHearET wuthE g fhesd.
(1) =120 (2) =S
(3) Trem s (4) FdSt @

Primary deficit is the fiscal deficits minus

(1) interest payment (2) interest receipts

(3} net interest payment (4) none of the above

gt Fr{ommdl yie R weeds! SR dee safta 5902

(1) Ui T fqm 9T (IRDP)

(2) TSR IO USETR G (NREP)

(3) T € TR B ESET (RLEGP)

(4) 0N wd

Which of the following programme was introduced by the government to alleviate poverty
in India ?

(1) The Integrated Rural Development Programme (IRDP)

(2) The National Rural Employment Programme (NREP)

(3) The Rural Landless Employment Guarantee Programme (RLEGP)

(4) All the above
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60. T F Fy WEIT= GAadd Idd

(a) TR (b) TaH1 e

() Trm e (d) TuHK

it I ;

(1) (@) 3 ) v (@) (0 F (d) FH

(3) (@), by F () 4 (b)) T () v
These taxes fall under the jurisdiction of the union government :
(a) Income Tax (b) Custom duties

() Corporation Tax {d) Toll Tax

Answer options :

(1) (a) and (b) only (2) () and (d) only
3) (2), () and (c) only (4) (), (©) and (d) only

61. WASTRT Tl Hehou Aee anfir faeig amei= 3T Quicites TR e 2
(1) @it 2) FTRET
(3) SRR (1) Fotw gd

Which of the following concept refers to the expansion of economic and financial activities
across the national boundaries ?

(1)  Privatisation (2) Liberalisation
(3) Globalisation (4) Al of the above

62, YRd T SENAF Gicho Wifed <
(a) Yo=n TN A
(b) dfiem 9vte aRafas FAwS
(c) e Tidte HOw F G oTHE
(d) W= TeHo 9 @ g gV quEie
ot 34y
(D) (a) v (2) (b) v (3) (o) % (4) et T

Budget of Government of India gives information about :

(a) Budget estimates of the following year

(b)  Actual figures of the preceding year

{(c) Budget and revised figures for the current year

(d) Complete picture of estimated receipts and expenditure
Answer options :

(1) (a) only (2) () only (3) (c) only (4) all of above
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63. SIS TRARIS & 370 HeaH THEyr=Al SUMTHUM Hivicyl HIGHIer 4R =T errd
7 ?
(1) M SR T et
(2) TEARA GE HAFAT FA FOAE TEH
(3) TEE 3T
(4) TERTT WA TEW JTIRIARN

Which of the fellowing constitute the challenge for small and medium enterprises in India,
due to globalisation ?

(1) Limited exposer to foreign market
(2)  Achieving cost efficiency

(3) Lack of competition

(4) Easy access to foreign technology

64, ST AR I (WTO) 3= FIUT GIO@ah! HIVl MR S5 Hoel =Tl ?

(1) ISR HTEtelte YURO KT, (2) Swald gE FH FO
(3) eI Wb wH! FHI0, (4) TrafE g2 Jefa.
The WTO agreement on agriculture does not aim at which of the following ?
(1) lmproving market access (2) Reducing domestic subsidies
(3) Reducing domestic support (4) Increasing export subsidies

65. WHBIH! HIUEI TEFH THATS Goeid st ToEEr 2R ?

(1) w3 fefrs ggdl

2) R foera Fraem

(3) THE! A 3N Fwed fHwraEe TON

(4) oYl He

Which of the following factor is responsible for educated unemployment in India ?
(1) Defective educational system

(2) Inadequate development planning

{(3) Inadequate attention to the development of human resource and skills
(4) All the above
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66. I ATIET A RS ECHEI CERIGE

(1y f=fa (2) @

(3) aEE (4) F@d A

[ncome terms of lrade increased capéciry of

(1) export (2) import

(3) investment (4) none of the above
67. Y B IFEEE WY A

(1}  E&w (2) HETHEA

(3) S | L (4) S A

_ is not an unproductive expenditure.

(1) Defence (2)  Administration
(3) Energy {(4) Interest payment
68, FM[GHFG Higdd, JH N T YaE A
(1) H= (2) frafam (3)  wlgamia (4) TEH

Under globalization flow of capital, labour and goods are

(1)  Free (2} Controlled (3} Restricted (4) Co-operative

69. T I foad i tHia qeardl 9 WU
(1) Teoreyo 2) R (3) A wEHEE  (4) AT YR
The singlemost important item of development expenditure of the state is :

(1) Education (2) Agriculture (3) Civil works (4) Rural projects
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71,

72,

el EHTHTEE AN /SPACE FOR ROUGH WORK
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WAGIHT HIVR TAETEHITE ol W@ AT 718 ?
(a) Harid w9
(b) FX TERHE DTS F9
(€) WiwE B
(d) =iode ad
it 3@
1) @ CA) 3} (d) (4) (9
Which of the following are the major heads of debt of public finance ?
{a) Internal debt
{b) Loans and advances from the central government
{c} Provident fund
(d) All of above
Answer options :

1) ) 2) @ Gy (4 ¢4 ©

Tella T aror faedieRT WA @ & A
) e, 2004 2y ufuw, 2005 (3) ufuw, 2006 (4) e, 2007

The Rajiv Gandhi Gramin Vidyutikarn Yojana (RGGVY) was launched in
(I) April, 2004 {(2) April, 2005 (3) April, 2006 (4) April, 2007

WS SRS T Jeanad R W d AT B,

(1) FER Uea 2 @ (3) g (4) TEHRE
In budget every programme has to be evaluate.

(1) legislative (2) cash (3) multiple (4) zcro based

P.T.O.
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73.

30 A
e SR HeeT=a ST W FAUE W AR vt 2
(a) faeht wisaeme W fely Fga a@m.
(b) TSR SHIVCATE WHIER fEY T SRl
(c) o1 M@ d TS A HHK LU,
(d) Toelt foarorarim S JoeroexiymTe FHA TRF aauE 7Ly Q.
qaidt AT
(1) () v (2) () %R (3) (o) 4 wowd
The main features of TRIMS agreement of WTO is :
(a)  All restrictions on foreign capital should be scrapped
()  No restriction will be imposed on any area of investment

(¢) Imports of raw materials and components will be allowed freely

(d) The foreign investor shall be given the same rights in the matter of investment as a
national investor.

Answer options :

74.

(1) (a) ondy (2) (b)only (3)  (c) only (4) Al ofabove
9 2000 BB _ Yo gERTIUR H413 o AEEOrl, g 9 Tod WA 01+l
faerome ooy a€9 Uy o1 ke '
(1) 6= () 7= (3) 8= (4) 9=m

There has been significant change in distribution of central tax collections between the
central and state governments according to ___ Constitutional Amendment in
2000.

(1) gth () 7th (3) gth (4) gth

HeAT WHIMTES JeT /SPACE FOR ROUGH WORK
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75. @ 2011-12 ¥ FuhA@ A SRR HERTTER SHEArH HSHaEEdid Jeie T S
ELIEREA

(a) IW W

(b) sifem

(c) WA W

(d) F=R

gt I

L @ ®r@ @) @ 0 d € dbheh@ @ @b«

Arrange these states in descending order with reference to the incidence of poverty
estimated by the Planning Commission for 2011-12.

(a) Uttar Pradesh
(b) Odisha

() Madhya Pradesh
(d) Bihar

Answer opfions :

0 D@ by@ @ @ b d @ (@ 0@ @ @ b)), c

76. VR Q& Ut SEvAE I

1) 19, 1993 (2) 1%, 1994 (3) 193, 1995 4) 1%, 199

Service tax was introduced in India on

(1) Ttluly, 1993 (2) 1%t July, 1994 (3) 1%t]July, 1995  (4) 1% July, 199

77. e G A S TR v TR el ?

(1) . gemem (2) 3w T

(3) WA " (4) . S =W

The final draft of the 5% five year plan was prepared by

(1) <. Subramaniam (2) Ashok Mehata
(3) Mohan Dhariya (4) D.P. Dhar
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78. ICHEIHLV, WFIHIN § AFTGRHL § T = @id AR,
(1) HeFR 2) wicToIE=
(3) T anfée g (4) Setw TR
Liberalization, Privatization and Globalization are the three pillars of
(1) Co-operation (2} Capitalism
{3) New Economic Policy (4) None of above
79. & GHAT ¥ W Hada IR,
(1) = ZT=E0
(2) T @Y
(3) UG GEAFS F Gehigd g
(4) T R

Tax shifting refers to

(1) avoiding of tax

(2) imposing tax

(3) shifting tax burden from one person to another
(4) none of these

80. A YRaumHiS [aavmE @ Weie Hoe MEIES 7 ?

(1) 3o ¥ (2) Ewul VI w2

(3) TNEIE 5 (4) <IiETd 9%

Investment in infrastructure leads to which of the following ?

(1) Fall in output (2} Reduce in competitiveness
(3) Reduce in poverty (4) Increase in poverty

81. SIfd® AR Feed=a (WTQ) F9HE 9T 9dt &AEe! Tr=a @& aifie Taser 7ed
TEUH WOIeu®! I Hoed SUAT G TR ?
(1) 7= i ¥ (2) =3 G T
(3) 1A S | 4) Yoo W ’

Which of the following is provided as the annual level support in monetary terms extended
to agriculture sector by the member countries as per the provision of WTO ?

(1} Amber Box Support (2)  Blue Box Support
(3}  Green Box Support (4) Red Box Support
oA HIHTETST AT /SPACE FOR ROUGH WORK )
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82. W fauriad faum 31
(2) Tt 3T 2 sffaReR, 2014 WA FATSA AEETEN ST S ST
(b)y . AR I ¥ T IuTHAE ST
() mmﬁmﬁwﬁmmmﬁ@mm
EIRSRERIEE UE L E
(1) (a) 30000 (b) o o0 SR, (2) (b ST () A S e
(3} (a) 3N (c) P S 37T (4) a0 ¥d faue SR aTRa.
Consider the following statements :
(a) NITI Ayog has replaced the Planning Commission from 2™ October, 2014,
(b) Mr. Arvind Panagariya is its Vice - Chairman.
(¢) It has adopted bottom-up approach in development process.
Which stateinent is correct ?

(1} (a) and (b) only are correct (2} (b) and (c) only are correct
(3) (a) and {(¢) only are correct {4y All of the above are correct

83. frenre faitafadidl afg g Fawie site (FRBM) it & See 26 :
(a) TEHS FErd I=ERU U
(b) TSRIYE G FH HL
(c) TR HEATH FHE e Hev
(d) R T HYE L

i I : .
(1) (a) AT (b) e (2} () s (d) w
3) (@), (b) 3 () BH @) (), (b) = (d) B

The Fiscal Responsibility and Budget Management Bill (FRBM} was aimed at :
{a) Eliminating revenue deficit

(b) Reducing fiscal deficit

{c) Containing growth of public debt

{d} Reducing defence expenditure

Answer options :

(1) (a) and (b) only (2) (¢} and (d) only

(3} (a), (b) and (c) only (4) (a), (b} and (d) only
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84, WSIGUH! FIVE o R AT Twfad ?
(1) =2 & axg= fomiet e S,
(2) =2 7w fahi=a1 deiel 9T Fe SNl
(3) e & FEqH fasr= fhad sfor @Ei=n fmd=a Wi o S,
(4) == T
Which of the following is the features of VAT ?
(1) VAT is a tax on sale of goods.
(2) Itis imposed at the point of sale only.

(3) It is imposed on the difference between sale value and purchase value of goods.
(4)  All the above

85, oM TSt Faifan o F’ STATE e aft e R 2
(1) 7ea foagor <01,
) g o1fty T wERTtE fas dey gumo.
(3) TR drmes AU il AEiEa qewr .
(4) ATl Th e T SAfeol,
What is the main role of NITI Ayog which replaces Planning Commission ?
(1) To impart value education.

(2) To improve center-state financial relations.
(3) To provide government with relevant strategic and technical advice.
-(4) To transform India into a great nation.
86. THE ‘FE I AT Ao @ 7 TR,
1) SEEF T (2) SIEEE @
(3) Wigael @H (4) =UUH AR
The expenditure of the Government on ‘law and order’ is classified as
(1) Productive expenditure (2) Unproductive expenditure
(3) Capital expenditure (4) None of the above

87. LT HeYD WOOTH! HIUl TArgT adi 7

(1) =&, ey, THAD (2) AN Ed 9 S

(3) R HIR TS 4) Thetw w6

Non - tax revenues come from : i

(1) Currency, coinage and mint (2) Interest receipts and dividends
(3) Other non-tax revenues (4) All of above

ol WS AN /SPACE FOR ROUGH WORK
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88. Y& HU= AR RO €l

(1) R 2) =M (3) Wit (4) WHEUREIR

Indirect taxes have effect on the society.

(I) Progressive (2) Equitable (3) Regressive (4) Proportional
89, UAEAN TdihE dgavd fHaq HRSUI gHH 337 il s ?

(1) SmaE g6 (2) WA SR FE9 (WTO)

(3) SfaTUsg A fAet (IMF) (4) WSl S (feETy)

Who has been given the mandate to negotiate multilateral rules in services ?

(1) World Bank (2) WTO

(3) IMF (4) Central Banks
90, fom FHivm= S ¥ UsTUdi=T v dAadia fRRE o 3R 2

(a) A IHNGT T TER G Feg GEhIT At !,
(b) T SRR AT =T SO VEFTE e 3T,
(©) TH IR THF S TAEHR 9 hee@R g faxiia qeume e .

d) ot wd
i 39
1) (a) ®R (2) (d) H= @) (b) FH (4) (o ®H

The function of finance commission is for make recommendations to the President in
respect of : :

(a) The distribution of net proceeds of taxes to be shared between the union and the
state.

(b) The principles which should govern the payment by the union grant-m-ald to the
revenue of the state.

(¢)  Any other matter concerning financial relations between the union and the state.
(d) All of above
Answer options :

(1) (a) only (2) (d)only (3)  (b) only (4) () only
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91. THHEHERE g Hedor T 7rl R,
(a) TF THRA Ao F
(b) e WA TEYD SHHS {09 FLhRE! el
(c) e TR TISH o TR 94
(d) T WEHTH A TWEAG THSH Heq S
gt I
1) (a) ®H 2) (b) ®H 3) () B (4) adetR wd
Important sources of state government revenue are :
(a) State’s own taxes
(b) State’s share in the tax proceeds of the central government
(¢) Grants-in-aid and other contribution from the centre

(d) State’s own non - tax revenue

Answer options :
(1) (a) only (2) (b) only (3) (c) only (4) All of above

92, Wik SATIR FHEA=AT (WTO) F-IHRY TRue= Haila Toe S S 3
(a) =R Ao faswma wftwg
(b) TEIfaTEF AR IS
(c) Warfaugs =R i
FlSAHT IO W Taw TR aie=n Hatid writa 37Rd 7
(1) % (a) (2) I (a) ST (b)
(3) = (b) I () (4) (), (b) 3 (0)
Following are the councils working under General Council of WTO :
(a) Council for Trade and Development
(b) Council for Trade in Goods
() Council for Trade in Services
Which of the above council are actually working under the General Council ?
(1) Only (a) (2) Only (a) and (b)
(3) Only (b) and (0) (4)  (a) () and (©)

93. TR STV SIS FAHTHRY FI (GATT) TaSIt SITfah SR €HeT1 (WTO)
TSt e a1,

(1) 1 SMad, 1957 (2) 1 SHard, 1991
(3) 1 SmHad, 1995 (4) 1vHad, 1996
WTO replaced GATT and came in existence on .
(1) 1% January, 1957 (2) 1% January, 1991
(3) 1% January, 1995 (4) 1% January, 1996
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94, HRATSAN HATAKe 1951 TaTal & 8l WIHeehl SVl ol el ?

(a) TRV Siog TaN IRl SG e STV Yisae! a%] 9 HodT1 HIoTE! 34w,

(b) eI Rl SO ated) s JrerEt .

() ST 9 SR TEHATGE Fil U ST

(d) o= STde fahoeia g Sy arg.

e 5 |

(1) (a) P 2 MFE@®TE () @T(DFE (4 THH T

Structural changes in India’s imports since 1951 shows :

(a) Rapid growth of industrialisation which needs necessary imports of capital goods

and raw materials.

(b) Growing imports of raw material on the basis of liberalisation of imports and exports.

(c) Declining imports of food grains and other consumer goods.

(d) Sharp rise in international prices of oil.

Answer options :

(1) {(a) only (2) (b)and (c) only (3) (a)and (d) only (4) All of above
95. T Yoy L Fe (SIEHl) I FgAF HIUd HIE hooo A= g ZHe ?

(a) IO (FAHLS foFe T <)
(b) THEIR fdae A HT

(€ ¥R

(d) e TR GIEHIY

qaidt SEY

(1) (a) 3T (b) e 2 (b) AW () TR
(3)  (a) (b), () T (d) 4) () o (d) Fe

The new Direct Tax Code {DTC) removed most of the categories of exempted income
like : :

{a) ULIPS - United Linked Insurance Plan

{v) Equity Linked Mutual Funds

(¢} Term Deposits

(d) National Saving Certificates

Answer options :

(1) (a) and (b) only (2) (b)and (¢) only

() (@, (®) (©) and (d) (4)  (c) and (d) only
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38 A
‘fafay fcam afizs fdniw’ 21 wreitets! S0 diger ?
(1)  swifdeh o+ (2) W4 fawm a@aw, 2010
(3) TaarH Hz@ (4) T o offw e
Which of the following has introduced ‘Multidimension Poverty Index” ?
(1)  World Bank (2) Human Development Report, 2010
(3)  Planning Commission (4) Reserve Bank of India

97.

RATAIE PR {91 HZqehie Tais] \ieie Yl TR,

a) AGACIED 3 AE T,

b) W& YA #fusE SAaed T,

¢) AL wfufaa @ =e

EHEEARC IR EEIE R o - L lee |

() (a) 30T (b) 730 (2)  (b) FON () FF (3) (@) T () FH (4) (), (b) O (c)

Civil aviation in India suffers from the following weakness :

(
(

{a) High cost ol operation

(b) High dependence on foreign suppliers

{c) Inadequate lruined manpower.

Which of the statements given above is correct ?

(I} (a)and (h) onlv (2) (byand (c)only (3) (a)and (c) only (4) (a), (b) and {(c)

98,

WABIFT T 1 TSI A THE FRUTE TR 7

(@) TR ST e

(b) deen fHAd 3 TEVIEN @Hq WA JEE TR

(c) HIR foron o Wil AR IR o =l

(d) TormE=ids @

TR 3T :

(1) e Q) () R (@) () w @) (© ®H
Which are the reasons for the increase in expenditure of the state ?

(a) Expansion in civil administration

(b) Higher salaries and wages due to rise in prices and cost of living

{c) Increase in the provision of government services in the form of education and public
health

(d) Increased development expenditure
Answer options :

(1) Al of above (2) (a) only (3) (b)only (4) (c)only
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99, WHGYH! PV HZhi=l YT AT faer= fed-wen Sfeeims gaoew gh)?

(1) T (2) i feraar et O

(3) e e (4) Tlow wd

Which of the following constitute long-term objective of economic planning in India ?
(1) Self - reliance {2) Reduction in income-inequalities

(3) Elimination of poverty (4)  All the above

100. YRTTHIS SRIHIE] WSt v HET, ¥ AecTd ATay ?

(1) IR FEd S (2) 3T T
(3) Wt Wi e (4)  HETTHREET GUHT FEQN
Which of the following is not the important cause of unemployment in India ?
(1) Increase in labour force {2) Inappropriate technology
(3) Lack of effective demand {4) Protective Jabour law
-00o0-
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AT — (7% 1 9867 qe.... )

8) wyfewmed fafeg o fafe IriRa =1 F9 (TF 9%) @, RAYRAHAfIE Siahar a1
T FHIEA F=F F Hedd T FIY SO RAA FS IR, 30 O RS d UK IAAR
A S0 oo ' qleined e TRyERn sfasy sogememe sfufEn-82"! 9o REETER HReE
FE 5@ F QT Al FHG T U= wrarEredt 0/ 99 Uk §9R EE gerear oy
A 25,

@) TR YRR S fafeq oot 32 HUeIHa INTIRIST € YR T wlat TR
U3 AN TEE AR, AT GHeTeR (TETed SUaTgel SUga ATUedt SRl 4Ti-1
WAL S 7 FOReT T &) STayae AL

9. . 201.

9 @ 201.

T A9
<! 918 T FoarEd! HIot qod: Tae w7
(1) R T 2 ¥R fame
(3) TN qHHEA 9 @)  TirrEsEs TES
& W AT IR (3) TN TEd T4 o IR, e W We e I '(3)"" dide, anew
TEETEOl 71 F. 201 FOle sw-wHw @) ® a4@ e sEifad we e
HawEH AT,

ONGN RO

A TEAH T TAYRAFA S Td® Fe=1 o SaGhAs 8 gl Waaie qiace
ITAAFANS T N ATTRAHIEHINSG Gafud g quivsl Srifka $61 SreeEr.  gehiar
Thad Shiedl YIS e A, YFas o1 iy U9 ag& 4.
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